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I Analysis of the rest of X mwn
a  Resolution (according to 7227): he should take it back and give it to her without the exclusionary clause
i /prm this is per 8”2v, who said (in re: a V) given under false pretenses) that he must take it back etc.
ii 212 7 could even be »17 (who disagrees there) quoting R1n3 27 (a *913, like n°pn); here it is different
1 Reason: she already acquired it to become n1n3% n%100 (> words alone don’t fix it, must retake & give again)
b However: if it was written in the v3, it is 9108 (and can’t be re-taken and given again)
i X790 7 the mwn’s rule is “if it was written in it”
1 Justification (he’s just restating the 7ywp): R"70 that’s only after the q1n; if beforehand, even 8”pa, 9100 — Y"np
ii ~ n27 distinction between 9”pa and 12112 1an only after 91; if before, even 9”ya is 5108
1 Note: ®21is consistent, as he told 107 910 to keep the husband silent (w/n'Rin) until after they write 91n
II  xpma: dispute o'non/sa7 about wRIN
a 27 all wrininvalidate a v
b onom only oran that invalidate orally invalidate in writing = "pin” invalidates; "mmn %»” doesn’t invalidate
i ~wr -z dispute only if stated before 9mn —
1’27 we ban n" as a precaution against y1n; n'non do not accept n’m
2 However: after M, all agree that either one is valid
(a) And: our nwn that invalidates 12112 1an> (per our interpretation — yin); but n”y isn’t Yo
(i) Could be: 13111 — if written before the 97n or consensus — if written after 4710
ii ~ n27 dispute is only if stated after 99n
1 237 we ban as a precaution of a condition stated before 911n; 13139 — we don’t extend the ban
2 However: if before the 910 — all agree that it is invalid
(a) And: our mwn (as per above) must be after the 9710 and only per 1317
iii N2 taught before 1. a V3 with a 'Rin written in is 5109 according to all
1 Challenge: there is no consensus
2 Rather: according to all, it is valid (if written after 971n)
(@) Question: why not “fix” nymnw to be invalid — according to 721
(b) Answer: more likely that he confused %va for 7w, not 531 a7
III 2 mwn: an exclusionary condition in a V3 where 'a is otherwise forbidden to her
a  If: he makes the v3 conditional on her being prohibited to e.g. father or slave where wy1p aren’t possible— valid 03
b But if: he makes the v3 conditional on her being prohibited to an 712112 MR or RS NY’R — invalid V)
i Note: Rwn lists father, brother, slave or non-Jew; Y93 extends to all nyy
il And: 993 of R2'D extends to raxym MmNy etc.
¢ Questions (X370f 17):
i What if he: excludes a 1op — right now he isn’t able to make pv11p but he will be able to later — valid?
1 Answer: if a mvp can be divorced from pw11p made by her father
(a) However: if we require nn'm...nx¥"; even though she can’t be nwTpnn
(b) Rather: since she will eventually come to the age of 1”11, she can be divorced; same here (3 is invalid)
ii ~ What if he: excludes the unborn? They aren’t currently alive, but will become pPwy1p 212
1 Answer: if he excludes a slave or non-Jew, doesn’t affect w117, even though they may convert
2 Block: in those cases, their conversion/freedom isn’t inevitable, but these will be born
iii  What if he: excludes her sister’s husband (who is 7170 to her as long as her sister is alive) is it a V32 1V?
1 Answer: just like »1901 T2y aren’t currently a V31 W
2 Block: conversion/freedom isn’t the usual course of events; death is (and she may predecease her husband)
iv. What if he: excludes her mir — even though he didn’t exclude marriage, he did block nxa
1 Answer: from our nywn, where father etc. aren’t V31 9w — must be mir (b/c father isn’t a PR 12 to her at all)
(a) Therefore: only mit with nyay isn’t a 9vw; but miar with another is considered a 71w (25109 v))
(b) Block: perhaps it is about PR — if they violated the law and married
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v What if he: excluded 12772 XYW N2

1  Hedidn't: exclude 12773 nR*a, but perhaps per v1, we equate the two
vi  What if he: excluded o171 nvan

1 Hedidn’t: exclude marriage; but perhaps per v2, 0»111 n19n is part of the marital relationship
vii What if he: excluded nmn-eating

1 Hedidn’t: exclude anything about marriage; but perhaps per v3, nm1n is part of the relationship
viii What if he: excluded nwyy?

1 Hedidn’t: exclude anything about marriage; but perhaps per v4, that is inherent in the relationship
ix  What if he: excluded yow rvy1p

1 Hedidn't: block marriage, as she can have nk>21 qu3 *v11p; or perhaps nn'm...nk¥" equates them

IV 2 mwn: The 970 of the va — “DIR Y35 mImn N "1N”

a

b

AT 7 "PrasnT.an” (more detailed language)
i Dispute: whether mm»omn prw o1 are sufficient (01’ "1 - insufficient)
1 And: without the clear language, it seems that the 01 is just proof of divorce and it was effected verbally
7797® LX "PIN N2 NR MN7or "NRYY NR M7
i miv a1 formulated an exact wording for T2y nan 70w, including the slave’s having no pnw
1 Aside (7738): remedy for 1nw is ginger and metal shavings, olive oil, white naptha, applied with goose feather

V  Clarification of several formulae of separation

a

If: he used 7n¥y5 nX »n for divorce, is it valid? Is total separation or just financial independence intended?
i N2237 (v 19): if it works for a nnaw, who is owned by him, v"p it works for nwx
ii  Question (X2237): if he says 72 poy *% PR to his slave, is that a valid 91w
1 Answer (from Nr2273): if he sells his 72y to ", he goes free and he requires 1Y v
(a) 2727 only if he didn’t write “1R” (which is “when you flee him, 72 poy »5 PR”); if he did — no need

VI Practicum

a
b

»ax: details about orthography of v (7om &Yn 2>n> which might mislead as to meaning)

Question: is ..J71 needed?

i Answer: apparently not, as 811 mandated a particular formula but didn’t include ...;.m

ii  Block: his reported formula is not the entire v3; he may have required ..;m

~27's formula: included “from this day on” — to oppose '0v "1's opinion that the date on the 70w establishes time of effect
i And:included “forever” to oppose that question he asked of 1™ regarding a temporary divorce ("nn%...01n)
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